Organic Chemistry 1 —Spring 2010
Worksheet for Jacquie’s recitation
Chapter 9

1) Predict the product of the reaction conditions ety filling in details about the substrate, reagand
solvent. Remember to show all stereochemical pitiisibif any product is chiral.

a. Substrate type: Product(s):

Base type:
/\)ﬁl %3%‘, Nucleophile type:
3 Solvent type:

Expected mech(s):

b. Substrate type: Product(s):
Base type:

/\)5 _CH30H, Nucleophile type:
Solvent type:

Expected mech(s):

C. Substrate type: Product(s):
1 Base type:
- —DllfABS'"E’ Nucleophile type:
NN Solvent type:

Expected mech(s):

d. Substrate type: Product(s):
Base type:
—I'Eﬂ‘gﬁ-’ Nucleophile type:
NS Solvent type:

Expected mech(s):

e. Substrate type: Product(s):
Base type:
CH3SNa
>k/Br W Nucleophile type:
3 Solvent type:

Expected mech(s):

f. Substrate type: Product(s):
| Base type:

: CH3;COONa  Nucleophile type:
~ "\ CH;COOH Solventtype:
Expected mech(s):

H Et Substrate type: Product(s):

-, KOH Base type:
N cl “CH.OH Nucleophile type:
H\\ M 3 Solvent type:
€ Expected mech(s):

Hint: Remember the required geometry and redraw the molecule in that arrangement.
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2) Below are two molecules. What reaction would yopest them to do in C¥#0Na/CHOH? Which one
will be faster at it? Hint: Draw them both in th@sh stable chair conformation. Which one meets the
geometric requirements of the reaction better?

Cl

1o ue
"//’< "//’<

3) Fill in the intermediate products of this multi4steynthesis. Hint: In the last step, eliminationads very
likely because you'd be forming a double bond tmething that's forced to hold 66ond angles by the
three-membered ring it's in.

CHal,
HCl EtONa/EtOH
Et,0, Zn/Cu

1 BI’Z

CH3COONa

CH3COOH




